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Whitney lays tiles in the following pattern

If she has 16 red tiles and 20 yellow tiles.
remaining, can she continue her pattern
without there being any tiles left over?

Explain why.
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True or False?

« For every red cube there are 8 blue
cubes.

- Forevery 4 blue cubes there is 1 red
cube.

« Forevery 3 red cubes there would be
12 blue cubes.

« Forevery 16 cubes, 4 would be red
and 12 would be blue.

« For every 20 cubes, 4 would be red
and 16 would be blue.
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Ron plants flowers in a flower bed.
For every 2 red roses he plants 5 white
roses.

He says,

00

Is Ron correct?
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Which is the odd one out?
Explain your answer.
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There are some red and green cubes in a
bag 2 of the cubes are red.

True or False?

« Forevery 2 red cubes there are 5
green cubes.

« Forevery 2 red cubes there are 3
green cubes.

« Forevery 3 green cubes there are 2
red cubes.

« Forevery 3 green cubes there are 5
red cubes.

Explain your answers.




